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PHILOSOPHY
[Heonours ]
PAPER - VII
Full Marks : 90
Time : 4 hours
The figures in the right hand ;r:argin indicéte .‘-marks

Candidates are required to give their answers in their
own words as far as practicable

Illustrate the answers wherever necessary

[NEW SYLLABUS]

[Long -Answer Type Questions ]

Answer any two questions, taking at least
ene from each Group : 15%x2

{ Term Gver )



(2)

GROUP-A

1. (a) Discuss the relation of a word to its
meaning, 6

(b) What is the principle of common usage of a
word ? 3

(¢) Isthere any exception to this principle of
common usage of word ? Discuss with
suitable examples. _ 6

2. (@) Distinguish between defining and
accompanying characteristics. 8

(b) What is the harm in saying that ail
characteristics are accompanying ? 3

(c) What type of characteristic is mentioned
in each of the following propositions ? 4

() Man is a laughing animal.
(if)Negroes are black.
(iii) Steel is an alloy of iron.

(iv) Squares have four sides.

UG/TIVPHIL/H/VIF1T(New) ( Continued )



(3)

Critically examine the correspondence theory
of truth. Explain the senses in which the ‘words
mrue” or "truth” are used in the following
sentences : ' 12+3

(a) Itis truth that hurts.
(b) You connot draw a true circle.
(¢) He is true to his wife.
GROUP~-B
(a) Whatis the nature of scientific explanation ?

(b) Briefly state its characteristics. ' 10

Critically discuss the verifiability criterion of

meaning. 15
(a) What ',is determinism ? | 3

() How can determinism be compatible with
human freedom ? o i2
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[Semi-Long -Answer Type Questions ]
Answer any five questions, taking
at least two from each Group : 8x5

GROUP —-A

Distinguish between weak and strong senses
of 'know'. 8

Show the differences with example between
analytic and synthetic statements, 8

(a) What is Ostensive definition ?
(b) Do you consider it as the most fundamental _‘
one ? Explain. ‘ 4+4

Explain sense-expenence as the source of
knowledge. 8

Write a short note on : Category Mistake. 8
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17.
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GROUP -B
What do you mégn by ‘Law of Nature' ? 8
Explain the Representative Theory  of
Realism. ; 8
(a) What is the problem of induction ?

'(b) Does Hospers suggest any solutionto it 74 + 4

Explain the central idea of phenomenalism. 8
Explain the nominalist theory of Universal. 8

{Short -Answer Type Questions ]

Answer any five questions, taking
" at least two fromeach Group : 4x5

GROUP ~A

What do-you mean by ‘Process-Product
Ambiguity' ? 4
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Explain whether the following statements arc
meaningless and if so, state the criteria which

are violated in cach case : 141+1+1

(@) 12is blue.

(if) Saturday is sleeping.
(iif) Square is round.

(iv) The starlies éb(;vé the universe.

Are the following states of affairs logically
possible ? Justify your answer. 2+2

() Togo back to the past.

(i9) For a cat to give birth to pups.

In what-senses the word 'meaning' is used in

the following instances ? Explain. 2+2.
(i) Smoke means fire.

(ii) Do you think that your life has any meaning ?
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21, State the major thesis of pragmatic theory
of truth. 4

GROUP -B

22. Distinguish between explaining and giving
feasons. 4

23. What is idealism ? 4

24. Which of the following propositions
would you consider to be the law of nature ?
Why ? - 2+2

({) All human beings are mortal. |
(#i) All the crows in the United States are black.

25. Distinguish between descriptive and prescriptive
law. . 4

26. 'We construct theories, but we discover laws
of nature'. Explain. , 4
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